EARAROBEEIERT — 2 N— IBISH —F

2019528 11H (B) 20m{£E6H

mgﬁﬁﬁé‘ C2 ¥5%R4m®t (w8 | mEmml - |5 0 v s
[AE£] 1% :220,000” ~ 23#%:66,000” ~ 337%&:22,000 ™  43%&:13,000 M 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6 TNy R H—I 4 5 fﬁﬂ‘é 1:(3_0).5 3-3-3-2 [38.3| — 1 493 %i%ﬁ‘x (#=®)
QivLNyELHTT BIO—LLIAH—I O | Giups
+2 [ii{m}2 :30. —1-1- . = REM (£8)
5 4| W=t > 6| W 1 (310)7 1-1-1-1 [ 39.3 2 (ﬁg) %;E i1
LB/ w74 B:OAYvl— HE77—L
3 7| ZE—FZFFA b f 5 EJ%A 1:(341).4 2223 |39.6| — | 7 | 42 ;g%ﬁ (1E%)
LRRLTSY BTF4TA4 9 | asais
. S e = e s : 76— — HMEELF (EE)
alzlg| FLro RS i 6 Al 1.(311).6 7-7-6-4 | 38.9 6 :1?) RS
R:TANET Y1 BARIER—a FHE®S
on L —Px s AT :32. -9—10— . — AE—X (£8)
555 T7H—/N>TxY o7 s 1(322)0 9-9-10-6 | 38.7 3 (5_134) i % e
RELRA Y E =g BianY WhiE  EEL
I i 6 | BAKS 1:32.5 10-10-9-5 |39.3 | — 4 445 |EBTE (1£8)
6|1|1]|TM3F-L 54.0 2172 Ly |BERT
LN—=YI74 B:x7O0F1N—F LESS
RS RN REE_ :33. —4-5- . — HEXE (£8)
N BTN 5 | 2% 7.3 Al -
Loy rA~T BiEdy b e H IV
NG E N s 7 | mAER 1:33.4 4-5-4-8 | 41.1| — 10 | 433 |BEARBE (£H)
glglio|V—T1>771Y 56.0 ©) (<o) | (B JPNEH
R4 JF¥LLy b BIUELTFATAY J =% Ty — L
N N N RHEEC :33. -6-7- . - FEFE (£8)
ol7lg| x1vamyse 46 i 1(313)6 6-6-7-10 | 40.5 8 ig)@ AL 5
RHLRA Y E = BIUENA— %3 & HERKS
N > PIEERA SR G5 5 | Bl 1:(3;).2 8-8-8-9 [40.9| — | 11 | 473 uuj;g;z (=)
R:F4—FTTVI 7 B:AFIvE)-X (#2) KEHSE
. i 8 | BEE—E 1:34.7 11-11-11-11{ 40.5 | — 9 467 | NIEFF (£H)
18| ¥V —7>rT7- 54.0 @172 Gy | FEEE
LBATATv— B:ARHI it
® I —F—@EBIERL
13—F— 4,7,6,10,3,8,9,2,5,1,11
2= = 4,7,6,3,10,8,9,2,5,1,11
Jol=5r= 4,7,6,10,3,9,8,2,1,5,11
43—F— 4,6,7,9,1,5,3,10,2,8,11
[ N3
BB 6 170M 714K 4-6 150H % E 4-6 210 3EHE 4-6-7 1,770H
8 B 6 110M 6-7 500 B & 4-6 190H K31 6-4-7 4,300
4 1309 4-7 860M B H 6-4 420
7 360M

ABICOVWTRDTEEERROODE. TR LIV,




